
ACTIVITY -  7  

Q-1. Estimate the following product :  

1. 45 x  32  

45 round off to nearest 10 =     5 0 

32 round off to nearest 10 =     3 0 

 

45        =    5 0 

32      =  x  3 0  

         1 5 0 0 

2. 645 x  5  

645 round off to nearest 100  =    6 0 0 

645        =   6 0 0 

5      =      x   5   

          3 0 0 0 

3. 524 x  62 

524 round off to nearest 100  =    5 0 0 

62 round off to nearest 10 =          6 0 

 

524        =    5 0 0 

62      =  x     6 0  

         3 0 0 0 0 

4. 1 6 9 x  5 3 

169  round off to nearest 10 0 =   2 0 0 

5 3  round off to nearest 10   =     5 0 

 

16 9          =    2 0 0 

5 3      =    x  5 0  

         1 0 0 0 0 

5. 8 1 x  6 7  

8 1 round off to nearest 10 =     8 0 

6 7 round off to nearest 10 =     7 0 

 

81        =    8 0 

67      =  x  7 0  

          5 6 0 0 

 



 

 

 

 

 

 

 

 

 

 

 


